Name:_____________ Period:____

Genetics Practice
1. For each of the problems below write the letter that would represent the dominant allele and the letter that would represent the recessive.

In humans, dimples are  dominant to no dimples

In cats, grey fur  is dominant to white  fur 
______dominant allele      ______recessive allele.       
 ______dominant allele      ______recessive allele.

In flowers, blue flower color is dominant to red

In humans, cleft chin is dominant to non-cleft chin 
______dominant allele      ______recessive allele.       
 ______dominant allele      ______recessive allele.

2.Decide whether something is a genotype or phenotype by placing it in the correct column of the t-chart below.


Brown hair 
JJ


     Phenotype

Genotype


tt

Hazel eyes

LI

Left Handed

Right handed
Pp


Zz

Short second toe


Role tongue
No freckles


AA

OO


Small nose
Large thumb


Ee

Attached ear lobe

Explain, in your own words, how you know the difference between a genotype and phenotype?
3.  For each genotype below, indicate whether it is heterozygous (Hetero), homozygous dominant (HomoD) or homozygous recessive (HomoR)
	aa _____
	QQ ____
	Kk _____
	WW _____

	 Zz_____
	Ii ____
	PP _____
	Hh _____

	EE _____
	Jj ____
	Nn _____
	yy_____

	 cc_____
	Oo ____
	bb _____
	RR _____


4.  Use the genotypes below to determine what phenotype an organism would have. 

Freckles are dominant to no freckles



Green eyes are dominant to blue eyes

Persons genotype
Persons Phenotype


Persons genotype
Persons Phenotype


FF







Bb


ff







BB


Ff







bb

5.  Use the genotypes below to determine what phenotype an organism would have. 


Black hair is dominant to red hair.



What would the phenotype be of a person with the genotype BB? _____________



What would the phenotype be of a person with the genotype Bb? _____________



What would the phenotype be of a person with the genotype bb? _____________

Small nose is dominant to big nose 



What would the phenotype be of a person with the genotype SS? _____________



What would the phenotype be of a person with the genotype Ss? _____________



What would the phenotype be of a person with the genotype ss? _____________

Right handedness is dominant to left handedness



What would the phenotype be of a person with the genotypeRR? _____________



What would the phenotype be of a person with the genotype Rr? _____________



What would the phenotype be of a person with the genotype rr? _____________

6.  For each phenotype below, list the possible genotype or genotypes (remember to use the letter of the dominant trait)
Dimples are dominant to no dimples



Cleft chin is dominant to no cleft chin

Persons phenotype
Persons possible genotype
Persons phenotype
Persons possible genotype


Dimples






Cleft chin

No dimples






no cleft chin
7.  For each phenotype below, list the possible genotype or genotypes (remember to use the letter of the dominant trait)

In pea plants, tall is dominant to short.



What would the genotype(s) be of a plant with a phenotype of tall?  ______, ______



What would the genotype be of a plant with a phenotype of short?  ______


In pea plants, smooth seed is dominant to wrinkled seed



What could be the genotype of a plant with a phenotype of smooth seeds? ______, ________



What would be the genotype of a plant with a phenotype of wrinkled seeds? ______

In humans, widows peak is dominant to no widows peak



What could be the genotype of a person with a phenotype of widows peak? ______, ________



What would be the genotype of a person with a phenotype of no widows peak? ______

